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3. A 25,000kVA 13.8kV generator with Xd”=15% is connected through a transformer to a bus which
supplies five identical motors, as shown in Fig. 3. The subtransient reactance Xd” of each motor is 10% on a
|base of S000k VA, 6.9k V. The three-phase rating of the transformer is 25,000k VA, 13.8/6.9kV, with a leakage
reactance of 5%. The bus voltage at the motors is 6.9kV when a three-phase fault occurs at point P. For the
fault specified, determine (a) the subtransient current in the fault, (b) the subtransient current in breaker A
and (c) the symmetrical short circuit interrupting current (as defined for circuit-breaker applications, the

transient reactance of the motor is approach to the subtransient reactance times 1.5) in the fault and in
breaker A.(20%)
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4. What is the LTC (or TCUL) transformer? And why (a) the isolation transformers are used in distribution

transformer and (b) autotransformers are often used to connect two transmission lines operating at different
voltage levels? (10%)

5. What are the difference between primary and back up protection? Describing there by cascaded protection
in low voltage system.(10%)

6. Prove the generalized circuit constants of all transmission-line models satisfy the condition that
AD-BC=1 (15%)




